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|A tangent to a circle is perpendicular to the radius through the point of

contact.]
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[The perpendicular drawn at a point of a circle to the radius through that
point is a tangent to the circle.|
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[The lengths of the two tangent segments drawn from an external point to a
circle are equal.]
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|The measure of an angle formed by a tangent to a circle and a chord through

the point of contact equals the measure of an angle inscribed in the alternate segment.]
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[If the measure of an angle formed by a straight line through an end point

of a chord of a circle is equal to the measure of an angle inscribed in the alternate

segment then the straight line is a tangent to the circle, |
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[If a secant to a circle passing through an external point P meets the circle

at A and B and PT is a tangent segment, then PA : PB = PT3,]
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(The two centres and the point of contact of two tangent-circles are collinear.)
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